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1. 7H&E 7|<15F
O gm0 JE bR F B W = WI+W2 = 12.740 + 9.604 = 22.344 kN
W1 B SR AR E & = 1300 kg = 12.740 kN
W2: B CALPHATER = 980 kg = 9.604 kN

Qe at YRR Ky = 1.5 (EZ7ASHFICHETLKEDEA)
QxFtHAFHES  Fy =KW = 1.5 X 22.344 = 33.516 kN
@ HMEESH  Fy = 1/2F; = 16.758 kN
GO
ISR E L ETOES hg = 1246 cm
AIVRDHLLBEER EL LD F CTOFRRE 0 = 750 c¢cm
®7 > H—R/Lh
BEER OIS %25 2 123568 OB IRV EZ T2 O T > J1—R VAR EL nt= 2 K
TUH—RNVNDRAH n= 4 K RIVRA 0= 200.0 cm
2. TUA—ARNDF#J1:Rb AW 1:Q
Fiirhe— (W—Fy) *0¢ 33.516 X 124.6 —( 22.344 — 16.758 )X 75

Rb f— p—
0+nt 400
Rb = 9.40 kN
Q= Fu _ 33.516 Q = 8.38 kN
n 4
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ME:SUS FEOVEE: M 16 JHAEX L 75 cmllhk
VY= Fe= 1.8 kN/cm? (=27 ) — M@EFE2. 1kN/cend)
PRSIk E Ta = 67 L% p = 1/6Min(Fc/30,0.05+Fc/100)
p =1/6Min( 1.8 = 30 . 0.05 + 1.8 = 100)
p = 1/6Min( 0.06 . 0.068 )= 0.01
Ta = 6 X 314 X 75 X 75 X 001 = 10.6 kN/A&
i TR RS R T T — RV (HERE)
ME:SUS  FEOMX: M 16 HHAEX L 096 cmllb

L JY—MEE Fe= 21 kN/cm?
A B| B EE Ta = Fc/8n+dy' L dy:alZV—bDZEALE 1.8 cm
KT U F =RV A= T —HELHE AR 3 A2 8,
Ta = 2.1 + 8 X 314 X 1.8 X 96 = 14.243 kKN/A

KA HE | 55
30.75 kKN/A | Bk
17.85 kN/AK | A&

4. FFAMh RS R

7L H—R )V A AR
AIVMZALDEIET] | Rb 9.40 kN/A
AIVNMZAELLE AW I Q 8.38 kN/A&

10.60 kKN/AK | A& |@hmici

RAMIELSSH |Rb - 940 kN/AK 14.24 kKN/A | &% |BES%
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RSO REAM S il AR NS BRWTHERE X B XA /Y 303 EEICLS, [ 1.6 X 11.9 = 17.85 ]
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